Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

1.00

0.10

0.01

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

1742-294-PCA-2345-MJD50710.12127_lc.txt / MJID 50710.121240 / burstid=2345

; N Grey line: exponential fit Peak flux: 0.604+/- 0.032 c/s/cm? é
— i Black line: power law + gauss fit Fluence : 14.69+/- 0.97 c/cm? —
B Dashed line: power law o ) ' ]
Duration: 67.85+/- 4.71s
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; Exponential fit é
= Expon.time: 14.46+/- 0.66 s (chi*red= 1.14) 3
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; Power law fit é
E Power law index: -1.616+/- 0.061 (chi*red= 1.15) =
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— Power law fit plus Gaussian (st.dev.= 27.56+/- 2.45 s, fracgs= 0.21+/- 0.06) =
- Power law index: -2.189+/- 0.370 (chi*-red= 1.10) 3
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